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401 Al&HIZL=ROHYI 50,000 0 50,000
01 Al&H| 50,000 0 50,000
O6. 2T HAEESUALHI A (QNMEZHZUZSHEZ) 50,000,000 50,000
FUEXSE 20,000 0 20,000
M EXg2 24 20,000 0 20,000
401 A EHIL 201 20,000 0 20,000
01 Al&HI 20,000 0 20,000
OsH =EXa& HEFAY 20,000
— Ot H=EX 32 20,000,000 * 14! 20,000
FOIMETE MHIA A 2S(AMSISX/ALS =X e 116,236 84,932 31,304
FOIMET A M A 116,236 84,932 31,304
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201 Lt 7,160 5,760 1,400
01 AtS 22l 7,160 5,760 1,400
OFUMNHIA EES HEH(4SB) 1,000% 30001 *13l 300
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—HEE2AA 70,0003 16 »23] 2,240
—A2g o 70,0002 18 *23| 2,520
202 O4Hl 6,000 7,200 1,200
01 =LHAOYI 6,000 7,200 21,200
OMHIASH 2 XIS AL 20,0002 *3Z 100! 6,000
301 et a= 6,050 6,850 A800
10 ALAHIZE &= 6,050 6,850 A 800
O=F2AHA L2AHHAUERD 2A2AS A 22t 55,0002 x20& « 12| 1,100
OFgANHA AR 22A&IMA 22 55,0003 x50 « 12| 2,750
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307 PI2HOIA 47,026 65, 122 ~18,096
02 BIHtANE X 37,026 45,122 /8,096
OF2UANHIA ol FLUERAZ 289X 37,026
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OFRIAHIA A3 A 10,000,000& *13 10,000
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- OIS, YEE SA(ZEH) 289,620,000 289,620
161,565
28,962
99,093
-EDIE E.SFY SAAY(650E) 185,250,000 185,250
185,250

M H1AD

H

Ols2=SAlE 2EXA 620,000 550,548 69,452
359,520
260,480

UMD

307 2120l & 620,000 550,548 69,452

359,520
260,480

M) AL

02 212t = 620,000 550,548 69,452
620,000
620,000,000 14 2~ 620,000

359,520
260,480

10
>
B
Ho
02
=
o
=t
H
0
0

M) A

OrsS &< X2 A £ 32,400 32,400 0
22,680
4,860
4,860

H

301 Let2a= 32,400 32,400 0
22,680
4,860
4,860

M

SESEaeliS) 32,400 32,400 0
O=HIEx=AS 32,400




A FQMET R
FE: fdsgEie £ MNASESXNF(ME=SX/ES - IIELHY)
@ RESOts AHE X (&9 H
= _ — NUE &
SN-FH-SA(SA) - NEAY - BES Off &K OTI/‘\_FBIE HnsZ
—OtSZE XA X2 (90F) 30,000 x90H « 123 32,400
= 22,680
< 4,860
= 4,860
geotsL=s= N 3,773 4,778 A1,005
= 2,461
= 1,312
301 et ez 3,773 4,778 A 1,005
= 2,461
= 1,312
01 MaIEBHEH63 3,773 4,778 A1,005
O=HIEZAY 3,773
—YotsLdL2 R (49) 3,773,000 3,773
= 2,461
= 1,312
Obs= XA Al E L Xtel X 86,520 74,160 12,360
= 60,564
[ 12,978
= 12,978
307 @Iztol A 86,520 74,160 12,360
= 60,564
< 12,978
= 12,978
02 22t a2x 86,520 74,160 12,360
O=HIEZ ALY 86,520
—OtS=EXI WAL 21248 (7Y) 1,030,000& 7E« 123 86,520
= 60,564
< 12,978
= 12,978
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el
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0
P
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SN B EP(EH) - HIRAN -

i
0z
Jo

Off &4 ] BT

Ol
M

2 (A
R
J2H

ANG0otsdH 2 A& 260,400 135,772 124,628
130,200

65,100
65,100

o

307 2120l & 260,400 135,772 124,628
130,200
65,100
65,100

MW

02 260,400 135,772 124,628
260,400
K2 (70 2) 260,400,000 260,400
130,200
65,100
65,100

[

=)
s
o
= P

M H
e

O
H

|
= o

R ooz

=}
O
x
o
HO
0

M

EIAOCISHE X2 (<) 9,000 0 9,000

5,400
900
2,700

M) H1 AL

301 Let2a= 9,000 0 9,000
5,400

900
2,700

RURSINE

01 A2 H 463 9,000 0 9,000
A 9,000
NgEERSCY/2EH) 9,000,000& 9,000
5,400

900
2,700

M) H1 AL

HASE0IS XA (Z8I) 45,400 0 45,400
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=3 0f
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el

[
0
P
10

Ol
M

SN HA(SH) - NRAY - B bl ul

0%
o
=
x
2
2 (A
R
J2H

17,120
28,280

Mok

301 Let2a= 45,400 0 45,400

17,120
28,280

Ml

01 AIBIBR=AF2 43,000 0 43,000
EAY 43,000
E50E 2AH| X2 (40AITH) 20,000 *40 I C§ * 127 & 9,600
3,840
5,760
—JIR2SO0LS K4l X (40K T) 70,0002 *40 K| CH <23 5,600
1,680
3,920
—PID0OIE YEE st 22(80Y) 80,0002 *80% <23 12,800
5,120
7,680
ORI 2| AP X2 (9%) 600, 0002 *9% *1 3] 5,400
2,160
3,240
SEEULIDOIE FAIEl KIS (4E) 200,0002 *4% x 122 9,600
3,840
5,760
2 2,400 0 2,400
EAE 2,400
S ASSH| 50,000! x24% x23] 2,400
480
1,920

I
0
HL
fol
o
O
Ml Ml M

Mk

EURCH

Ml 1

Ol LS AEX R (&) 13,944 0 13,944
5,603

H
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SN HA(SH) - NRAY - B bl ul

Ol
M

0%
o
=
x
2
20
R
J2H

M

8,341

307 G12+0IH 13,944 0 13,944

5,603
8,341

EURE

02 212+

N 13,944 0 13,944
AH 13,944

LAFAE SA=Z(20F) 5,600,000& 5,600
2,800
2,800
— OIS YA =X 2AHI X2 (75Y) 2503 »75H +365 6,844
2,053
4,791
—OlSLSAE EH 2AH XN (75%) 10,0003 75 750
375
375
—OtSL=AE S8 ZEHl XA (758) 10,0003 +75Y 750
375
375

U EUNCH

UL

M H

YA IEAEOtES AMelXlE XNFAS(EX) 1,200 0 1,200
840
180
180

MW

301 LEtEHS 1,200 0 1,200
840
180
180

H

14=0l= 1,200 0 1,200
A 1,200

—YA0ls & A HEAE OtsKH 1,200,000& 1,200
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A FQMET R
A HY AU (FQHE X A1) (IIEHIIE
el Jl=2&l (el &)
- _ _ NUE &
SN H-SR(EH) - NRAMY - B 0] &k o G I RE2
E=i= 18,000& 123 216
ozl 9,000& +12& 108
O8=k 2= 180
— A& S AHEH 15,000& 122 180
202 O4Hl 43,240 44,160 A 920
01 WA 43,240 44,160 2920
OZLH Bl 100,000 «23H 128 27,600
OZ2/ ¢ 8l 85,000% x23H 8 15,640
HRES(=UMERAL) (MISX/FHAHNEXH) 1,310,314 ,313,009 N2,695
LIS HHXI = 310,314 313,009 AN2,695
H2t &= 310,314 313,009 AN2,695
701 JIEtRI A &= 310,314 313,009 AN2,695
01 JIEtSIHEES 310,314 0 310,314
O2d=20lIi= S8IH &3 310,314
— &2l 7,667,075,000 *4% 306,683
—AdZd8E KA 90,775,000 *4% 3,631
LHEAHHXI & 1,000,000 ,000,000 0
lsdEs (=) 1,000,000 ,000,000 0
702 JISEES 1,000,000 ,000,000 0
01 JIsd=E= 1,000,000 0 1,000,000
OgLZMELIIZ 1,000,000,000& =13 1,000,000

_77_




